THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

SERVICE MANUAL BGS-250 MKIII
1x120V VERSION 1.0

WWW.BLASTRAC.EU < INFO@BLASTRAC.EU




THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

Index
Inspection comments 03
1. Spare parts 04
Fig. 01 04
Fig. 02 06
Fig. 03 08
2. Electric schedules
Electric circuit diagram 1x120V / 60Hz 9
Contact
2



%BLAS TRAC

Inspection comments

Inspection before initial operation on:

By:

Date of initial operation:

Serial number & Year of manufacture:

Recurring inspections / maintenance log

Date / hour counter Findings Repairs / Cleaning Test

on By*

*competent person



—
=
—
=T
(=
=T
o
=)
o=
oo
[}
L
=T
(S .
o=
-
v
-
]
=

O
2
R
Vo)
WY
. °
m ¢
Qb




%BLAS TRAC

Fig. 01

Item | Partnumber | Description ___________|Remarks __|Qt.

1 E14418 1.1kW Motor with gearbox 1
2 = M8 nut 4
3 = M14x30 Hexagon bolt 2
4 = M14x40 Hexagon bolt 2
5 E14451 Adapterplate with handle 1
6 = M8x25 Countersunk head screw 4
7 = M10 Locking nut 3
8 - M10 Washer 6
9 E10177 Coupling 1
10 - M10x30 Countersunk head screw 1
11 E10181 Coupling washer 1
12 - M10x45 Hexagon Bolt 3
13 000118-2S Flexible coupling 1
14 - M10x40 Hexagon bolt 3
15 E03250 Spacer ring 3
16 DGO05-1 Adapter diamond disc 1
17 - M8x12 Hexagon sockethead 4
18 E11157 Upper dust hood 1
19 BE0681 M6x16 Hex socket buttonhead screw 3
20 = M6 spring lock washer 3
21 - Nylon washer 3
22 E11157 Lower dust hood 1
23 BE0099 M12x20 4



INNOVATORS IN SURFACE PREPARATION

&BLASTRAC




%BLAS TRAC

Fig. 02

Item | Part number | Description | Remarks_|Qty.__

1 453290 Handle grip 2
2 E17359 Control box for BGS-250 1x120V 1
3 E15467 BGS-250 Handle 1
4 BE0026 M12 Washer DIN 125-1A 2
5 E13656 Axle 1
6 - M6x20 Hexagon sockethead cap 1
7 E15466 BGS-250 NA frame 1
8 E10672 Allen key no.8 1
9 = M20 Washer 4
10 E03603 Wheel 2
11 E11128 Wheel shaft 2
12 BEO097 Starlock ring 2
13 = M10x30 Bolt DIN 933 2
14 - M10 Spring lock washer DIN 127 B 2
15 E17359 Electric box for BGS-250 1x120V 1
16 E11162 Banning tool 1
17 = M12 Washer 2
18 BE1095 Knob M12 1



SBLASTRAC

2. Electric schedules

Electric circuit diagram E17359 1x120V / 60Hz
= w I = I » I = I = I » I 0 I =
Blastrac bv
Utrechthaven 12
%BLASTRAC 3433 PN Nieuwegein
Netherlands
+31(0)30-6018866
+31(0)30-6018333
Project description BGS-250 1x120V
Drawing number PJ19.1351.03
Blastrac number E17359
Power supply 120V 60Hz SPH
Input lead
Control Voltage
Year of Manufacturing 2019
Remarks Provide Suitable
Branch Circuit breaker
Disconect from wall socket
when not in use or servicing
Created on 12-12-2019 by HvdB
Edit date 30-7-2020 by HVDB Number of pages 11
la
Date S1-2020 0000 |Puecieee Page cemception: e |aS[rdC bV. =EL
L BGS-250 1x120V BLASTRAC Titelblad / voorblad — B -
Woditation | Date Tame :‘:‘w 072020 E17359 % reRRe e e PJ19.1351.03 !

& St St b




i ]

[FFAE] 0Z0E-£-05 [ j5e] SUEN Sieg | DONEmIpoW
BT oty E0'TSET 6TL0d —— — i
USUOD JO 3|qE.
: R SR 0 B8 DVYLSYI9D AOZIXT 062-594 o
Ta= e ] s T DE0T-L-0E =E0
£
ganH 0Z0Z-L-0€ 151 s3Ed 11/13=
g9anH 0202-9-¢ JURLIND WIEfy oT/13=
C 0Z0Z-L-62 195 3|0 6/13=
A 0Z0E-L-68 ¥oq |o.quc) g/13=
qanH 020Z-T-8 weabmp 21ge0 9/13=
R 907H 610Z-21-81 Aseuqy joquids s/13=
T 9aAH 0Z0Z-1-8 pusba bf13=
S 0202-£-62 1224S umIsiAZy £/13=
0202-L-0E SJUSJU0D JO 3|ge ] ezf13=
A ganH 6T02-Z1-81 WP e'1/13=
_ 9anH 0Z0Z-1-6 pejgioon [ pejgisilL 1/13=
Aq payp3 =e2a UoISInEY uonduosasp abeg abey
% 15 > o 5 3 ] T T [ o1 [ )




W T AT

THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

. . 65E£T3 DZ0Z-£-08 [ 158 SWEN ea
afie E0'TSET 610d —— —1 v
1B2YS UDISINEY

: "Aq Jense|g ! DVYLSYT9D AOZTXT 05Z-599 s
3= ] UoHoRD 0 T T DE0T-L-0E En]

apAH eyu] Jense|g Suuzauibug p=12|2p |2qqnH yrooq Buijess pue paBueyd jas 2jge) 0Z0Z-£0-62 2]

apAH Elyu] Je0sE|g BulesuiGul pabuey UCHEI0] J0Y0 0Z0T-90-20 z0

aprH eyu] Jense|g buusauibuz 3ing sy 020Z-10-22 1]

apAH eiyu] 2ense|g buusauibug Aleunzig 6T0Z-ZT-Z1 (1]

1oyp3 YRy uondLiasig =g UoIsIAZY

15 - ] o [+ 3 {74 ' T [ 50

10



THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

W 05 ARG

€0°TSET'6TLd

oy fuaiy

puaba]

+

3=

"Aq dense|g —

“unreom Ay

JDVYLSYIIP

65ELT3

ANOZTXT 0SZ-594 T =

DZ0Z-¢-0E [ 158 ey

=eg

WO PO

E OTOE-18 ==d

1BBA -

12qUINU BAIYIIY -
laquinu uoisiay - 14

F# #### ##0d
d39INNN ONIMVYYA

anig =aym - (DAAFZ) punoi9 [ snuipy
an|g yeq - anm dn-yooH

Jaquinu Buuuny -
aq uuny anjg sed - (OaA¥z) snid
it abeyjoA [oQuo)

3d0D 340D

USRI /MO||B A - 3d / yue3
*eld - €1
abed s|npayas - Hoelg - l
J2q3] |0quIAS - yoeyg - .
Jaquinu buuuny - |4 1000 BTSN
IT4 711 Uds AQZT abeljon uefy
3d0D 109WAS OMY BuLIM IV Y0700 FYIM

11



I B TATRIE

—
=
=
=T
=
oo
i . " 65ELTT 0202 -£-0€ Jd 1521 Swen
o= G ste £0'TSET'6TLd . “ —| oy
elgl| [oquAs
o * "AQ Jenselq s VLSV w AOCTXT 0S¢-S9d ET ]
G == s e S ] sl0zZ191|  =ed
<T 9
(e
o=
frem |
wv
-
v
DOR meERpsshiumpe YIpms AQiunolg . _f,.Av
.r.l\;h JOYEULSURIRI000S JRULICJSURL JUSLND "u
—
m JEERENRDS PR YILMS Jry .L f
M st IRy fﬁ 4 |
— SOPPEHOOpUE Eypes [T 1
e i \
EERRRLRSNP IUIMS 2UNsS3id
(= -{a] x{d]
Bansmga 1w weprbis SN M [BUILLIR] H aw.::s#.w.. Bunesy [ Jojsisay m !
reEEbiiy TIIMS JQEISOULIRL |
- cowny 7 wimd v 4E
I
BunuobEs 1L By 2qnL
PUETsREe BEpia 1PEJUOD S|QEACLU LM J0)SISSY i anebiin e oojun Aseyos ©f--
< TR dospooy degs Asusbiswwg b
u
3P IURPD PSIRER ELT-TY qnd pods ‘ltoa 2snd Aejau JEEFnELpSIED Buryo] e "
W\_H“H_ oo 2s|nd JogIeguosy . opms Aleqoy T _r, T
mepRpsstufEAgou WSIUBYIALW YIUMS LM Dule g Agfap ano-doip s _H“H- e psRe &) punogau .m.-.m f.-H
UIJIMS PEOISAD JOJ0LL 103 Aejeuiogaequo] Yopms Auegoy |
J3yERIT UNUD IBMOd . — n_mml
! ! ! Busbensaumydo Aepep dn-ymd yum puaAin Guryao) N flr
T pods 1103 A 103Ie3U0]) dearpiny UOIOqYsnd - | 1
Bifod-£ eRwoInE EEISUL ajod-sa.yy J1eyeRIq IN3ID rﬁ.\ﬂwrﬂwg
| | |
Feeds
103 ARfRa _HU uﬁaﬂﬂe_ﬂ Ppunogas ‘m:l f:._
100 I0yIEUGT) UOoqUsnd |
Bipod-g JeewoinEsgey s 2|od-omy “IZyER4g IN2ID fmAW {W
| |
PURIINS POSRARA  fE(BD SLUL UM SS50P
spELOsUEL IBULysuey E PTG S “peyucd IN
A v Einpod-7 e nes e elsu 2jod-2j6uis 12ye20q PN F.A“M “ m\ﬂﬂ;mw
|
=do pleenss  ARjRp 3WG YPMm susdo m s
e DR g
PEjuoD N
ERENEEEO LDYMS LR} / f r,
“ . W
RERBIN IZunod H
[ |
R anoyBuluuna ] E_Wﬁﬁh Aef2p awg yum sasop rﬁ
“pEjuod ON |
— Hegdery, RS 2jod-2auy} ‘J29uuodsIp pasnd .g.lﬁm”iﬁ
E e FERRiR Jzpwrdwe @ 1o pleenRA  fpfap Swn ypm suado rﬂm
S e “PeYucY ON |
JERELDS MBS ajod-aauyy ‘yayms pasny 7
! - L
A E_F |=_m/ |EF»% wiooy wisy .ﬂ.u....ﬂ”_ RS PIEUGD J2MOS k _vf
B PR 28Ny Aayes _H_ e W) eubis @ iy ey Adeixne .h f
|
% s k- [ St [ 3 ¢ T &1 [ S0

12



T TG ARSI

13

THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

. . [E{FRE] Dz0z-¢-0E fud 156
9 e E0°TSET 6T0d e ey T
weIEp A7 VLSV TP

+ . AOZTXT 05Z-594 sam| el

— AQ Jenselg B fre—— ] [
rabuey> 2215 2100 2|qR2 Ul YNS 1M 2amezdwsy Juigue
pue Jybus| w 26ueyy Aue ‘uonepURWLWIOIZI B AJUD 2UE ASL
Ja5Z J0 2unjel2dwisy JuRique ue e woE Jo 3ybus| wnuwnew
e 0y Buuizya aue weibelp siyy U1 SUOGD2S SS0U0 20IM 21
(34 0s|e 51 US3UDS) B|QED paUSIDs = J5
3|qed JUBWINESUT = YISNI
S|qED JBmogd = Wd

opwewa| (~EY oz wa't o gy EW |
SZTWOT | \ W/ B TTEMVE g |scoot
SEUE Ly
wy seon | ST ® s sy Jf\ W I
WISNI BT DMVS SPS0T SIH EMd | GTOWMPE  Tp- HdS ZHIS ADTT
e Addns
s - o 3 =3 ST 14 5T




THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

E0°TSET6TId

gy Bumag

"AqQ Jefse|g

X0q [onuod

_ VYISV

B6SELTT

AOCTXT 0S¢-594

0Z02-¢-0E upd 35E]

=eg UOEIPO

T 0

DEOT-¢-60

SES0T
HeEs

0+530T
015 /5N

a2

DOODUODD_
—mr—

1l

@

O L |

Red

00z

052

)
e

aun|iey

0SHOT

0L

14



THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

- . BSELTS DEOZ-¢-0E i 15e SUIEN S0 | LOEUIDoW
0 et £0°TSET 6T —— T i
=" DVYLSVIID X .
¥ R (=]
= Aq denselg s S NOCDXT 050598 |
[1]§ ]
wwigssT = 36U [=ol
(zUWT)-Z09-ZC BTOMY w
[T 000t T oot L
0oFT
wwppET = Wbus| (=o)L
pu=ih w_n_ﬁju_ﬂxm__:mmﬂ@ru_ - (wwo0t 32 Bumgn Ajuo) pRIys Pagoad o3 ¢ " (moffz puz2am) 3d
PRISSULOD 30 03 5| PUS PBIS = ¢ 3pIS UOGISULCD JO0W UO UOREINSU 3AEs] Alsap Jod " M H”._uuﬁ_._-.um.u__ww M
any -
oS k =0 "-may
10 = (Aam) £ (zWWG*T)AD-Z09-ZL ITOMY M o L
mn uH zuu_mw T | b1
Th = (umeig) T
L1INIFVD SET
Bey w_%h “uu SEE HOLOW 1sv1g
=puabia 0st o0t 05T
00T
Brd jo maia Juoiy
_v_m : M|
S Mo /
Bey 2gea adg Bryd jo maia Juoiy / 0 i
MR -
5= mzuﬁ_nn_ wwpges = ypbus| |e3o) y o
:pusbs 3d ﬁzu mnﬂ_zu
T1/e-5zno1 Sro——————| MOO3S “A009 (TWLLF) TT DMV, E suaidosn M ——— N
T1/1-52N0T = — o
/ ™ x08 T0uINDD z
0St 00ss 0E L
0864
s _ > o [ 3 _ S0 o st _ o _

15



THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

J0301W
aaLg

A0 S
WL
WOEEADET
MNHEL'D
=

_|A \f SZTWOT
34 q.ﬁ} m

BUIDIAIDS 40 ISN Ul JOU UM
194205 ||EM WD) JIDU0ISIA

jii10102Uu02 213 BURDIIVCISIP Jd0jaq
JUNYDRI JO YIUMS

(As0qepuewn)
A3} e PN Youesg
2|qeuns apiaodg

WST
rasng

HdS ZHO9 ADET
Apddns

1
_ _ 1 "
T7I 7 1T 3d N LR} (1)8

T [
| _ [ i [ B

S = T — M
,_ ] L T
I | [ B
[ T B [ B
[ [ B
[ _,C\_ [ B
| | AN | |
[ N _ [
[ T B do
THO9 @ 185 AJusnbauy “xely 1 1 | ! ! !
2851 @ 325 umop dwey [ T [
2251 @ 325 dn dwey 1 1 | 1 | |
| | | | | |
& PN |
[
od 34 eUm zia 1n o
[
Ty (.
[
AS+ +TIV W03 AT 51%5.& |1 En m -+ N1 11 34 | T4SZOMTIALY _ _
T 7Y i 79?79 i T 9 ¢ ¢ ¢ [sznot Lo
_| I I I o LW\ [
A _ _ 1 | [ - [
T 0 | [ [
[ o [ [
| 1 | _...M | 1 | |
- —— T loEL o [
M SHOT L1 ! [ o
NMN [ [ [
[ _— [ [
[ NI oSS | | ! !
_ --3SHS0T f—-4) ..1 055301 _ “ _ _
L [ [
[ [
[ [
[ [
[ [
[ [
[ [
[ [
L a0
L o o o e e e e el 4

s - o SE =3 ST 0T a1 o 50

[AE] DE0Z-¢-0E [ j5e) Swey e T
[ £0'TSET'6TLd —— —| o
JURLINT wIRg -
_ T _nﬁ ____|JVYLS V199 AOTIXT 052598 |
11 [

16



&BLASTRAC

W P0G TR

. . BSELTS DEDT-£-0E fund 158 SUEN e | UonENpoW
1§ EOTSETOId omomes o e T
: : g IVILSYT9D x o
3= AQ Jeqselg T wotomD T AOZTIXT 05594 Do DI0Z-4-0E|  =eq
at

E9ELTI POINH JHeESTEH ssopap Bupm w1 B 1 ax01

1156603 IERE SPRILDS T4SL0HETALY WERAEHIE03 358JUS NIZT MG T 3np Aousnteug 1 SENOT

CE1S0E IR SBPRILDS TTITHNEE Bupunou xoq Je31 - ON T - 00 Pejued wiad Gupds 1 SSOT

TSETIE e EEEWY-SAZ VLS, wnja Bunds 77 pesy uopnqusnd usmy iR T SES0

o] IpEE EpEIDS SE-TAE PERIBUAIN WL /7 X 9T PUsbe] J0) WAL 05 X DF 5Pl puso=1 T OSHIT

[EEE] IpEE EpEIDS WEAN-SEX +T 031 [EIE=] I 50 UIE 7700 W 101 S0 B T OSHIT

TETS03 e e TZITHNIZ BUnunai =0 e - DN T - ¥0u Dejuad Wmad fiids i 530

00STO0EME [ E¥ST03 IUEEE SRS FEESY-SIF \pgE) pue b6y 7o g pes vomnaysnd dogs AsusBeswa g Y 1 #5301

BERETI ] 95 T09-2I WRE 10 WS- NS 20521 SWVET 00 1 [

(] aosel Ne3IW 079705 COWE DoIENd-E) 5 N3/ DZW PUEID =wed T T3

B9ZRE qose[ 104 02205 COWE PRIER-FA U 'S5EI0 AWS/WT O7W 10 pUEh e T [T

T cor00a qose[ S T«02W HI0WTLLEVM PSRN0 SR S 107k N0 PUED e z [T

EnlE] qose[ ST00W TLLHVM PSRN0 S5EA] WIWET-E 5 T<0ZW PUED Raed z [T

EBEL0T e “HS W INOM 8 £552-¥ 0K ZWW E9'Z T S ks Bemen 9 [

£8KET3 AN U] =TT MY “ADDS (ZW) ZTSMVE WSasdoau 10 [ [

TOELTI POTRH 04628 (570U Y] & 19+ J AD-Z09-21 A0 N z QWL

T2EETd ] FHME0T1INT 5458 SEDLTWHI T3] SHTMIOCA0GE WanIEell AINSopU3 1 QWL

19EL13 ) STHOZW ¥d SHIHILN0IH R IS T3TH P05 T=DCH BNt T (=3

ECTE] aael 5 Tw0CH HI0WTELEVM IR 5 5 1A 1N PUEIB SiED 1 =

SETT0E qoser S'T+9TI ¥d TLHM o190 spauekod S T.9TW puall e 1 [y

09E£T3 A SRS Z00-TVX Buprdo 7 - onser - g-Tnx - voREss AU Adws 1 £

J=quinu Jense|g puzig Jzquinu 2dA | uogeubisap Aguendy Gey aowmap
11| sMed
1 - o SE [ 3 ST or T [ _ 50

17



THE INNOVATORS IN SURFACE PREPARATION

&BLASTRAC

BLASTRAC
WE’RE READY TO ASSIST YOU!

18



